
НАЙТИ СООТВЕТСТВИЕ

          1s2 2s2 2p5                  Na

         1s2 2s2 2p6 3s1             Be

         1s2 2s2 2p3                    F

         1s2 2 s2                          P

         1s2 2s2 2p6 3s2 3p3       N



Определите вид химической 
связи
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ХИМИЧЕСКАЯ СВЯЗЬ, 
ВОЗНИКШАЯ МЕЖДУ 

ИОНАМИ, НАЗЫВАЕТСЯ 
ИОННОЙ.

ИОН 

«+»  «-»
 ЭТО  ЗАРЯЖЕННАЯ 

ЧАСТИЦА















2Na0 + Cl
2 

0 → 2Na+ Cl-

4K0 + O
2

0 → 2K 
2 

+ O 2-

Mg0 + F
2

0 → Mg 2+ F
2
 - 





ИОНЫ – ЭТО  
ЗАРЯЖЕННЫЕ 

ЧАСТИЦЫ, В КОТОРЫЕ 
ПРЕВРАЩАЮТСЯ 

АТОМЫ В РЕЗУЛЬТАТЕ 
ОТДАЧИ ИЛИ 

ПРИСОЕДИНЕНИЯ 
ЭЛЕКТРОНОВ.



Домашнее задание: 

параграф 37 прочитать, 

определения выписать, 

упр 1, 4 стр 132 

выполнить в тетради


